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BB : 7H 21 H~8H 13 H (24 HR) U D HDOHEEK . 77.1% (1981 4£~2010 4£)
24H X 77.1% = 18H

() BREEDOFANE L OHLEDOHE

(AR DA ] [ 7 )
(ha Y7 O EEFEARIE) > +  (ha Y47- 0 EEE)
CFI FH B A5E)
T @I%IJ
HEE S (1) ® 1,733
e ¢ AF [ E R &) 0.263
FEEECM) B=0*@ 456
PREHEE EWh, hr) @ 3408.0
B &R /kWh) ® 0.02745
BB (M /hr) ©=-0*+® 94
B ANV @ 1
PALDIE g B [LEUEON) 2
I i | ANV /hr) - ©@=D*1,359 1,359
PR T E /) 0-B)%1,250 2,500
A 5H(M/hr) =0+ 3,859
ha*47- 028 Eh 2 (1) Q=Cx(®+W)/K 1,235
ha 4 72 DESERE BB () 18,180
A AFRED FR(ha) X<8/(@—®) 26.9
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